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The figures in the margin indicate full marks

for the questions

Answer either in English or in ASsamese
1. Answer the following questions as directed :
1x10=10
it SR oo PR T T
{a) What is price discrimination?
3 fcenead 2
(b) Give an example of monopsony market.
e (o o b T e |
(c) Define internal rate of return.
el e 2 ! e |
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Write True or False :
S (] STy o=

“Standard of living of worker depends on
real wage, not money wage.”

“HfieY BERT I oS TERT @RS
ST, T R et T 1”7

Give an example of insurable risk.

ST SieceE @ff Trrmaer |

What do you mean by Welfare
Economics?

eI WS et & g 2

What is transfer earning?

TBIEI-CATE {59

Choose the correct one :
& MR Tieres -

In monopoly, Marginal Revenue Product
(MRP) is (greater than/equal to/less
than) Value of Marginal Product (VMP).

40T TS AT RE) e Teomm,
A SAWT Y719 (AR /71w /<o) 27 |

State the compensation principle.

THeeEe TCHT fora |
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Fill in the blank :
L& B 7T 0
In monopolistic competition, there are

two types of costs. They are production
costs and

GFIRTR AR TEEe R AT W AR |
G 51 T T I |

2. Answer the following questions : 2x5=10
oo TR T fordt '

(@)

(&)

(¢

{d)
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State why Pigou is called the father of
Welfare Econormiics.

fros g T AR Pro g G| =,
o1 |

“Rent enter into price.” Comment.
‘el T RS | W T |

Point out two differences between Net
Present Value and Internal Rate of
Return. :

% TETR T WS SR AT T Tl
o2fq TeRe] |
What is shutdown point?

T 37 famg WeA [ 0
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() What are ‘Heroic’ assumptions
mentioned by Chamberlin?

A S 59 RBrERe wfeyme & [0

3. Answer any four of the following questions :

5x4=7
S eppTgEd R G BIRGR e for -
(a) What are the conditions for possibilities
and profitabilities of price
discrimination?

% Rreneed TR W deEad  (EEN
ToEE 5 2

(b) Distinguish between economic profit and
accounting profit.
wefFfeR w1 S SIS Ared A1 o1 |
() Explain the concept of quasi-rent as the

difference between total revenue and
total variable cost.

T oE W [ ARSI TR AN B
S 2SR GRND IRF4 |

(d) Explain briefly the innovation theory of
profit.

F[eT Ao SO Ogb TICF I A L
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{e) What 18 collective bargaining? Describe
the role of trade union in the upliftment
of working class.

Discuss payback period method as &
criterion of project appraisal.

mm%mﬁﬁmwﬂmﬁﬁ
R GITARIE

4. Answel the following questions g
e PR O fera :

(a) Explain the short-rin equﬂibrium of 2

different costs conditions. 10

@ / =21

Explain how price and output are
determined by @2 di_scrimiﬁating
monopolist. 10
% STRAR vﬂ?‘i'“mﬁzfmm,z@ =

o,
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(b) Critically discuss the marginal
productivity theory of distribution. 10

Resm aifts Seomams ©EHT AT
SCEToA S9<CEE |

Or / g2=7

Explain Ricardo’s concept on rent as a
differential surplus. 10

TSNS Tge e YR Rea Rere’s
SRS ol

{c) Discuss how wage is determined under
bilateral monopoly. 10
RS 90 2ome I8/ qone fided

Or / 3337

What is average rate of return criterion?
If initial investment outlay of a two-year
project is ¥ 90,000 and net income before
taxes is ¥ 50,000 and income tax is 50%,
then calculate average rate of return.
Again, if the minimum cut-off rate is
10%, whether the project will be selected
or not? 3+5+2=10
M6 2o B9 D R 2 Afice eI o
4o ARfeT Rf@e 9 90,000 = w

A T M AR WE R £50,000 R
SRS 50% W, (TR AT AfmE 3R

T T | AR Az PAOT T T 10%

=, oo 2w Fiifve 3R o e o
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(7))

Explain the Pigouvian concept of
Welfare Economics. 10

e Saes e e g@en 39w 4 |
Or / &<

What is Pareto optimality? Discuss the
conditions of Pareto optimality. 10
CTAGRE I STE 7 CRIROR I TR
SR A 1 |
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